-

ND A.

MO Co (7+40) - (-7 + 5i)

4. Which of the following results in a number
with both a real and an imaginary part?

B+2)(3-2) §-bisxka -

(B)(5-2)3+41) <, 120

N O D. (9-8i)+(4+8i)

= 0

5. Determine if each quadratic equation has
real solutions. Choose Yes or No.

A. 12x*-5=-3 @Yes ONo
\ . . - ._’_-) W " ‘- .
B. =x2+7=11 @ Yes O No
- ™\ L2 ,f N .
- = = Vo 70
C. 2(x*-3)=3(2x>+1) OYes @No
"L “fj o \0 = l'.; ‘? '\ s ‘:.,'
-4 “2 %
— — - ;' —! 3 - ") =y, i
A “’ " = MY ¢ )
D. 3¥*-1=8x%+9 OYes @No
\ = T
- 20y Y
O = %y xlp
E. 483x*-7)=3(x*-5) OYes ONo

6. A tennis ball is hit with an initial vertical
velocity of 60 ft/s. The function
h(t) = -16t? + 60t + 2 models the height h
(in feet) of the tennis ball at time £ (in
seconds). Does the ball reach each of the
following heights? Choose Yes or No.

A 44feet’ " e@Yes ONo
B 52 feet Bres - ONg
C 60 feet Qes , SHe
Ly, bt = - s
(3 = Lol & S S N 51

7. Determine the number and types of
solutions for each quadratic equation.

A 9x2+7x=6 Number: & Type: Nes |

. v) - e 4 L = .1[25
B. %xz +8=9 Number: = Type: _ " %=
~ 'A"'. \
C.3(*—4)=2x*+ 3 Number: = Type: “¢=|
) L e TR
rd | R IO
D. 5 + 3x? = 7x? - 10 Number: Type: ' °¢
He' 1520 D- L ) = 2kHo
For 8-11, perform the indicated operation
8. (-4 +11)(-5-8).
20 &52L ~SBA -
'z_ 0 e b E ,/ —— = ..' l - —
\ Q B L&A
9. (6+3i)(2i—4)- (4 +5i).
|24 24 L Ky c-\2 - i M
10. (2+3i)(2-3i)
W o= L o e oLy : L o, @ . 1
¥ z_‘) FY L - - I A - I - ) - %

25 i 4 A

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.

3 0

- 37 3buo = M (-1b



